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[TestMethod(), Timeout(1000)]

huﬁiicMQoid SolveTest Q1PhoneBook()

{
RunTest(new Q1PhoneBook("TD1"));

[TestMethod(), Timeout(1000)]

ﬁUBiicpgoid SolveTest Q2HashingWithChain()

{
RunTest(new Q2HashingWithChain("TD2"));

[TestMethod(), Timeout(1000)]

beiic“Qoid SolveTest Q3RabinKarp()

{
RunTest(new Q3RabinKarp("TD3"));
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public class Contact
{
public string Name;
public int Number;
public Contact(string name, int number)
{
Name = name;
Number = number;
F
¥
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public void Add(string name, int number)

{

for(int i=0@; i<PhoneBooklList.Count; i++)

{

if (PhoneBookList[i].Number == number)
{
PhoneBookList[i].Name = name;
return;
¥
}

PhoneBookList.Add(new Contact({name, number));

public string Find(int number)

{
for (int i = @; i < PhoneBookList.Count; i++)
{
if (PhoneBookList[i].Number == number)
return PhoneBookList[i].Name;
}
return "not found";
F

public void Delete(int number)

{
for (int i = @; i < PhoneBookList.Count; i++)
{
if (PhoneBookList[i].Number == number)
{
PhoneBookList.RemoveAt(i);
return;
¥
}
F



pubiicrclass Contact

{
public string Name;
public int Number;
1r nce
public Contact(string name, int number)
1
Name = name;
Number = number;
¥
d

1reterence

public class Q1lPhoneBook : Processor

{
0 references
public Q1PhoneBook(string testDataName) : base(testDataName) { }
0 references
public override string Process(string inStr) =»
TestTools.Process(inStr, (Func<string[], string[]>)Solve);
protected List<Contact> PhoneBookList;
1 reference
public string[] solve(string [] commands)[.. ]
1 reference
public void Add(string name, int number)[:]
1 reference
public string Find(int number)[:]
1 reference
public void Delete(int number)[:]
¥
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public class Q2HashingWithChain : Processor

{
ﬁuﬁiic-Q2Hashingwithchain(string testDataName) : base(testDataName) { }
bubiic.override string Process(string inStr) =>
TestTools.Process(inStr, (Func<long, string[], string[]>)Seolve);
bubiic.string[] Solve(long bucketCount, string[] commands)[::
public const long BigPrimeNumber = 1000060007 ;
public const long ChosenX = 263;
bublic.étatic long PolyHash(
string str, int start, int count,
long p = BigPrimeNumber, long x = Chosenx)[:]
public void Add(string str)[.]
public string Find(string s )[:]
public.void Delete(string s )[:]
public.string Check(int )[:]
3
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public class Q3RabinKarp : Processor

{

pu

ic Q3RabinKarp(string testDataName) : base(testDataName) { }

public override string Process(string inStr) =>
TestTools.Process(inStr, (Func<string, string, long[]>)Solve);

public.long[] Solve(string pattern, string text)

{

List<long> occurrences = new List<long>();
int startIdx = @;
int foundIdx = 9;
while ((foundIdx = text.IndexOf(pattern, startIdx)) >= startIdx)
{
startIdx = foundIdx + 1;
occurrences.Add(foundIdx);

}

return occurrences.ToArray();

) references

public static long[] PreComputeHashes(

string T,
int P,
long p,
long x)

return new long[] { };
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